H & 0l & AHS B Ml A

SA: AT
M T2AE | - 2l
el E2EE 2 /A2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rar-=inl; 3,385,776 2,519,660 866,116
C2AIE EHl - 2l 665, 165 567,780 97,385
CEEE 2 7L 665, 165 567,780 97,385
CE=FHFH 50,000 50,000
401 AlZHIZ SO 50,000 50,000
01 A28l 40,000 40,000
Okz=x3+ 40,000,000 40,000
02 2l 10,000 10,000 0
Okz=%=+ Zaldl 10,000,000 10,000
CEZAE2e| =T 14,165 13,780 385
201 Ler23| 11,665 11,280 385
01 At2teltl 8,305 7,920 385
OEAHEMN MNEXSE 2,840
oZZ2H e 180,000 ~4H 720
oEZH sHAUT 180,000 4 H 720
oZ2H EXI(A1) 40,0003 58} A 200
oglh e 150,000 *4H 600
oLgly el 150,000 *4H 600
OAdEAME EdHEAM & TEHSA 1,200
oAl 1,000 «6000H 600
oM 20,0003 *302¢ A 600
OgRas Fa| 9,000%!#1124+352! 3,465
O=2elyolPIRE Fu4Y
100,000 2 *43] 800
2 35244l 3,360 3,360 0
OgRxYg 70 &€ FAU
2,400,000 «1CH 2,400
OXsSxt 2= 500,000 *1CH 500
OXS A 100,000 1CH 100
OSHME AL ZEZE HR 120,000 120
Oggzd oRtEa 28 Mllg 47
240,000 240
203 HE=AH] 2,500 2,500
03 A= P2 FAI| 2,500 2,500
OAEAIHFA 2,500,000& 2,500
DX F=EXS 0lEEE W 300,000 300,000 0
401 Al HIZ S OHbI 300,000 300,000
01 AlZ2H| 300,000 300,000
OXXI =8X4 0182 WS
300,000,000 300,000
HIBEAIEE I EHES 24,000 24,000 0
401 Al HIZL 201 24,000 24,000
01 Al&H| 24,000 24,000




SN A D
ma: T2AlE Zy - 22

ol E2EE 2 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORMIBEAIE=S SN EHES
24,000,000& 24,000
SAFOESAL & Fu B4 - 23 A 100,000 0 100,000
401 AIEHIX R0 100,000 0 100,000
01 A28l 100,000 0 100,000
OSASOZA ¢ S1 B4 - BUTAHED
= 2&HE) 100,000,000& 100,000
SHESstn & Fu 25 - 23N 80,000 0 80,000
401 Al HIZL S 0HYI 80,000 0 80,000
01 Al&HI 80,000 0 80,000
OSdizsSstu & |1 B - 2L3A
80,000,000 80,000
HOIAIE = HHISAL 75,000 0 75,000
401 AlZHIZ S 0HbI 75,000 0 75,000
01 A28l 75,000 0 75,000
OUCtAIE= FHISA 75,000,000 75,000
AotAlEdE & FEHXIEH N EHES 22,000 0 22,000
401 AIEHIZ SR OHYI 22,000 0 22,000
01 Al&HI 22,000 0 22,000
OXIotAlE=2 & FHIE HHHHESA
22,000,000 22,000
EINPIE 2,341,000 1,209,000 1,132,000
SADIEAIE 22| 23t 2,332,000 1,200,000 1,132,000
2 & ot=AlE 3l 850,000 850,000 0
401 AlZHIZ SO 850,000 850,000 0
01 AlZ8| 850,000 850,000 0
OZ2U =2 & ot=Ald EHI
430,000,000 430,000
Oz &2 & otAlE 282(SI1AH <)
400,000,000& 400,000
O2tU Gh=2tZ CCTV EASH (SO 2)
20,000,000 20,000
geldel 2o = 20,000 20,000
401 A2 HIZL R 0HbI 20,000 20,000
01 Al&HI 20,000 20,000
O0I=8X & &0l i+ 2&=
20,000,000 20,000
e ot=A8 =A 300,000 300,000 0
401 AlEHIZ 2018 300,000 300,000
01 Al&H| 300,000 300,000
O ot=Al2 =4 300,000,000& 300,000
U HE A2 24 30,000 30,000 0
401 Al HIZ S OHbI 30,000 30,000
01 AlZ2H| 30,000 30,000




A AL
M SADNY

St TADIEAIE 22| 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Mz S| 2+
30,000,000& 30,000
SPULA=WAZ L3 ol EHIAY 545,000 0 545,000
401 AIEHIX R0 545,000 0 545,000
01 A28l 545,000 0 545,000
ORULM=uAZ & ot+=THHIAY
545,000,000 545,000
SHAZeHZ 2 T2 Y o222 ZHIEA 250,000 0 250,000
401 Al HIZL S 0HYI 250,000 0 250,000
01 Al&HI 250,000 0 250,000
O=sgazesz2 22 &2 2 of=22 FHi|
SAt 250,000,000 250,000
ol=2Z Dzl &9 220,000 0 220,000
401 AIEHIX R0 220,000 0 220,000
01 A28l 220,000 0 220,000
Oot=22 J|=dH EY
220,000,000 220,000
C2ot2A2 (/288 SFA) FHISAH AAIEHES 40,000 0 40,000
401 AIEHIZ R HYI 40,000 0 40,000
01 Al&H| 40,000 0 40,000
OLZot+22('2348 SFA!) HHIZAL Al
2HE4 40,000,000 40,000
X ESHHS = Sot+22(3-26H) IS A 77,000 0 77,000
401 AlEHIZ S 0HbI 77,000 0 77,000
01 AlZH| 77,000 0 77,000
OXHEGIHE = :ot+=2Z2(32EHH) Fhl
SAt 77,000,000 77,000
TAIAIE 2 9,000 9,000 0
SAHE G R 9,000 9,000 0
201 2= 9,000 9,000 0
01 At22t2lt] 9,000 9,000 0
OZANAE s851g
3,000,000& 22 6,000
OZAHESIRS &M+
100,000 x 15 *23] 3,000
INESEES 302,481 668,231 365,750
slgigt=s NEdd 24 302,481 668,231 A365,750
ANHEHR =& 36,530 36,370 1,160
201 er2 3| 29,690 28,840 850
01 At2teltl 14,252 14,192 60
OXNAHA & QIREG ARF 7Y 4,052
oZ2H E&X 40,000+82 320
oEZ2H 23 600,000 *2SET 1,200
o2l &l 175,000 2CH+50H 1,750
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SN A8
L RINESET
Chel: dzigt=s XY 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oHelE 23 75,0002 x2CH *4SET 600
oQIZ)| ADE 82,0002 182
OXNEIZEREX &% L 22l
170,000 x60& 10,200
2 22| 15,438 14,648 790
o=zl 650
oXIFAD B28EI| N2
650,000 650
ORSMEEBRAAY SN SN S4 10,160
oGISA ! (GeoNur is for KRAS)
4,620,000 23! 9,240
o0Z-Xstudio(2IZEE) 275,000& *23] 550
SGeDT(BANEBYETE)
184,800& x22] 370
OY P& ZHISIH| 952
S PNERe 158,600 5% 793
cEX0IEH I LTYR
158,600 1 159
ORSUBHBLAALY HOIHS 255t W
SRS 2,086,002 2,086
OYRBE NHESN %It B 7S
1,590,000& 1,590
308 REXISHMSOIH 6,840 6,530 310
13 2| BSOS A= RIS AL 6,840 6,530 310
OXNEZYIIER 9it 22
6,840,000& 6,840
NEEE 168,064 527,669 359,605
201 LEr2 | 12,637 8,85 3,782
01 ArR2eltl 9,582 5,800 3,782
OXIEMEAN E22 M
10,000& 20074 2,000
OXNEMEA 228 7
2,000,002 2,000
OX=2A9|3 HA2g 1,800
oZAZAAS
100,000& *5 & *23] 1,000
eV EIEET
100,000& x4 H 23] 800
OXIETHEAA XIZIIZEH 0|
858,000 858
OYZSINT NXTHEAAIY 2R ZH B}
Saaal=d 2,924,000& 2,924
02 S22l 3,055 3,085 0
OXIETHEAAIY LTRSS
3,055,000& 3,055
301 Et2EZ 155,427 518,814 A363,387




A A4t
mH: (R
Chel: dzigt=s XY 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
14 JIEt2 43 155,427 518,814 A363,387
OG=33KI7 NEBTHZAAY 2ES
155,427 ,000& 155,427
T2H FAAY 97,887 105,192 AT7,305
201 Lt | 6,880 6,664 216
01 At 22|l 4,880 4,880 0
OFAHBAARS HHLY
100,000&*5F *13| 500
OEHE=SE HZegy 222 1,380
oE(MAY Ml, 1HE)
345,000 44 1,380
O=23E g8= H&E S
3,000& *1,0004 3,000
02 B3=2gH| 2,000 1,784 216
OS2 HE IS SHSIHI
1,400,000& 1,400
OAQOLE KAIS OIOIE AtEZ
25,0003 «2CH 123 600
308 AXISHMSOIA 62,007 67,128 A5, 121
13 I 2SHICHeHE & =2 AL 62,007 67,128 A5, 121
OF2JE22e|AAE MO 7= & =X
22| 45,720
oFAFBAACIAIAE AN 7=
28,050,000& 28,050
oFAFBACIAIAE SX 2
17,670,000 17,670
Ogi=4 715 ¥ F=AEHEI 25 |A
2l 16,287,000& 16,287
401 AIEHIZL 201 29,000 29,000
01 Al&HI 29,000 29,000
OF2TEAE MEEX
300,000 *200H & 6,000
OF2JEAE S 2tel 23,000
oFATEBAIE LHIZA
5,000,000& » 14! 5,000
oFATHBAMNE RIS
300,000 *60JH & 18,000
Y 2AIZH|(AL) 77,130 74,649 2,481
[2&4| 77,130 74,649 2,481
2AI123| 77,130 74,649 2,481
201 B2 AL| 18,018 13,041 4,977
01 ArR22ltl 18,018 13,041 4,977
OFAM2Z JI=24E4|
279,000& +22H 6,138
OJ|2g2+8 Sl
9, 000 x5A x22H  12F 11,880
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SN A4t
Mz Y SAAH|(HAED)
oel: D23l (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
202 04b| 54,912 57,408 A2, 46
01 2L Y| 54,912 57,408 N2,496
OJ|2g248 Y|
260,000 x22%H x 122 *80% 54,912
203 YR =ZIH| 4,200 4,200
04 EAS2HH 2= 4,200 4,200
ORAMEEE2H 350,000 128 4,200




